Chhattisgar h Public Service Commission

Notations:
l.OptiOﬂS shomwl in greer color and with % icon are correct.

2 .Options shown in red color and with % icon are incorrect.

Question Paper Name: Dental Surgeon
Subject Name: Dental Surgeor
Duration: 180

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

Elective Subject 1

Group Maximum Duration : 120
Group Minimum Duration : 120
Revisit allowed for view?: No
Revisit allowed for edit?: No

Dental Surgeon

Mandatory or Optional:
Display Number Panel:
Group All Questions:

Question Number : 1 Question Id : 5403043301 Question Type: MCQ Display Question Number : Yes Single Line Question Option

: No Option Orientation : Vertical
Correct: 2 Wrong: 1

The major sign of Hypoventilation is:

Options:
, % Hypoxia

» % Cyanosis
= % DBronchitis
4 Dyspnoea

= % Hypercapnea

Question Number : 1 Question Id : 5403043301 Question Type: MCQ Display Question Number : Yes Single Line Question Option

: No Option Orientation : Vertical

Mandatory
Yes
No



Correct: 2 Wrong: 1

The major sign of Hypoventilation is:
Options:

, » Hypoxia

» % Cyanosis

%z % Bronchitis

4 Dyspnoea

c % Hypercapnea

Question Number : 2 Question Id : 5403043302 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

When the Diaphragm contracts during inspiration. the intrapleural pressure becomes:
Options:

, « More negative
> % Positive

z % Does not effect

4 % Lessnegative

Equal to intra alveolar pressure

®n

S

Question Number : 2 Question Id : 5403043302 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

When the Diaphragm contracts during inspiration. the intrapleural pressure becomes:
Options:

| « More negative
> % Positive

=z % Does not effect

4 ® Lessnegative

= % Equalto intra alveolar pressure

Question Number : 3 Question Id : 5403043303 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Bilirubin in liver is conjugated with:
Options:

1 % Taurine

> u Acetyl CoA

z % Glutamine

4 « Glucuronic acid



= » Glycine

Question Number : 3 Question Id : 5403043303 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Bilirubin in liver is conjugated with:
Options:

1 % Taurine

» = Acetyl CoA

%z % Glutamine
4 « Glucuronic acid

= % Glycine

Question Number : 4 Question Id : 5403043304 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is not an enzyme from pancreatic juice?

Options:
, » Lipase

> w Irypsin
» Pepsin
4 w Amylase

= % Chymotrypsin

Question Number : 4 Question Id : 5403043304 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is not an enzyme from pancreatic juice?

Options:
, » Lipase

> w Irypsin
» Pepsin
4 w Amylase

= % Chymotrypsin

Question Number : 5 Question Id : 5403043305 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following glands has the highest secretions in our body?
Options:

, = Salivary



- % Lacrimal
=z % Fundic
4 « Gastric
c % Sweat

Question Number : 5 Question Id : 5403043305 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following glands has the highest secretions in our body?
Options:
, w Salivary

- % Lacrimal
z % Fundic
4 « Gastric
c % Sweat

Question Number : 6 Question Id : 5403043306 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
For the x-ray operator. which of the following is the best method for radiation protection?

Options:

1 % Added filtration
- % Standing 6 feet away from x-ray tube

% Wearing a lead apron
» Standing behind a lead barrier

» Following the "Position and Distance" rule

Question Number : 6 Question Id : 5403043306 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
For the x-ray operator. which of the following is the best method for radiation protection?

Options:
1 % Added filtration

-~ » Standing 6 feet away from x-ray tube
- % Wearing a lead apron
4 « Standing behind a lead barrier

= » Following the "Position and Distance" rule

Question Number : 7 Question Id : 5403043307 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1



The facial aspect of an IOPAR film is determined by:
Options:
1 % Film with aluminium cover side

- % Anatomic land marks
5 % Curvature of arch

4 = Concavity of the embossed dot

=  Convexity of the embossed dot

Question Number : 7 Question Id : 5403043307 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
The facial aspect of an IOPAR film is determined by:

Options:
1 % Film with aluminium cover side

> % Anatomic land marks
%z % Curvature of arch

4 % Concavity of the embossed dot

=  Convexity of the embossed dot

Question Number : 8 Question Id : 5403043308 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

For greater contrast of images on a radiograph, which of the following kvp settings is required?
Options:

, % SOkvp

- % 060kvp

- % 75kvp

4 « 65Kkvp

c % 20kvp

Question Number : 8 Question Id : 5403043308 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

For greater contrast of images on a radiograph, which of the following kvp settings is required?
Options:

, % SO0kvp

- % 60kvp
- % 75kvp

4 « 65Kvp



c & 90kvp

Question Number : 9 Question Id : 5403043309 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which film 1s used for caries detection?
Options:

, % Dspeed

» % Espeed
- % B speed
4 % Cspeed

=  F speed

Question Number : 9 Question Id : 5403043309 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which film is used for caries detection?
Options:

, % Dspeed

~ % Espeed

% B speed
x C speed
 F speed

Question Number : 10 Question Id : 5403043310 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The best radiographic view of TMIJ is taken by:

Options:
, % OPG

> % Transorbital view
= % Reverse Towne's view

~ Transphamngyeal

o=

% Panorex

'

Question Number : 10 Question Id : 5403043310 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The best radiographic view of TMIJ is taken by:

Options:
, % OPG



- % Transorbital view
z % Reverse Towne's view
4 « Transpharmgyeal

c % Panorex

Question Number : 11 Question Id : 5403043311 Question Type: MCQ Display Question Number
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The clinical feature of Gingiva in children-

Options:
1 % mnon-keratinized

- % more keratinized more stippled
- » less keratinized more stippled
4  more keratinized less stippled

c ® less keratinized less stippled

Question Number : 11 Question Id : 5403043311 Question Type: MCQ Display Question Number
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The clinical feature of Gingiva in children-

Options:
1 % mnon-keratinized

- % more keratinized more stippled
- % less keratinized more stippled
4 « more keratinized less stippled

c % less keratinized less stippled

Question Number : 12 Question Id : 5403043312 Question Type: MCQ Display Question Number
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The periodontal ligament is thinnest at

Options:
» cementoenamel junction

—

% apex

e

% coronal
4 % crestal

c « fulcrum of axis of rotation

Question Number : 12 Question Id : 5403043312 Question Type: MCQ Display Question Number
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

: Yes Single Line Question

: Yes Single Line Question

: Yes Single Line Question

: Yes Single Line Question



The periodontal ligament is thinnest at

Options:

, w Ccementoenamel junction

> % apex

% % coronal

4 % crestal

5 « fulcrum of axis of rotation

Question Number : 13 Question Id : 5403043313 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Supragingival plaque causes:
Options:

| Gingivitis

> # Cervical caries
= % Periodontitis
Pericoronitis
c # Ulcers

i

Question Number : 13 Question Id : 5403043313 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Supragingival plaque causes:
Options:

| Gingivitis

> # Cervical caries

= % Periodontitis

4 % Pericoronitis

c # Ulcers

Question Number : 14 Question Id : 5403043314 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following organisms is not responsible for periodontal disease?

Options:
1 % Eubacterium

- % DBacteriodes

 Neisseria

Ll

4 % Eikenella

% Wolinella



Question Number : 14 Question Id : 5403043314 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following organisms is not responsible for periodontal disease?

Options:
1 % Eubacterium

- % DBacteriodes
3  Neisseria
4 % Eikenella

c % Wolinella

Question Number : 15 Question Id : 5403043315 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
1s a bacterial enzyme which causes breakdown of periodontal fibers in periodontitis.

Options:
, » Coagulase
> % Lactic acid

- % Hyaluronidase
4 « Collagenase

c w Amylase

Question Number : 15 Question Id : 5403043315 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
is a bacterial enzyme which causes breakdown of periodontal fibers in periodontitis.

Options:
, » Coagulase

> # Lactic acid

- » Hyaluronidase
4  Collagenase

c % Amylase

Question Number : 16 Question Id : 5403043316 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The primary etiological factor in the development of furcation defect is:

Options:
1 % calculus

- % root infection

= % occlusal trauma



4  Plaque

c % cemental caries

Question Number : 16 Question Id : 5403043316 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The primary etiological factor in the development of furcation defect is:

Options:
1 % calculus

- % root infection

= % occlusal travma

. Dblaque

e

% cemental caries

N

Question Number : 17 Question Id : 5403043317 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which one of the following statements is false?

Options:

, « Eubacterium found in normal healthy periodontium.

- % Gram negative anaerobic cocci associated with juvenile periodontitis.
- % Supragingival plaque causes gingivitis.

4 = Rhamnose is not associated with dental plaque.

c w P.gingivalis is a periodontal pathogen.

Question Number : 17 Question Id : 5403043317 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which one of the following statements is false?
Options:
, « Eubacterium found in normal healthy periodontium.

- w Gramnegative anaerobic cocci associated with juvenile periodontitis.
- % Supragingival plaque causes gingivitis.
4 = Rhamnose is not associated with dental plaque.

= w P.gingivalis is a periodontal pathogen.

Question Number : 18 Question Id : 5403043318 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
How does the plaque differ from materia alba?

Options:



1 % Presence of saliva

> w Absence of glycoprotein
= % Presence of bacteria

4 % Absence of bacteria

=  Presence of glycoprotein

Question Number : 18 Question Id : 5403043318 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
How does the plaque differ from materia alba?

Options:
1 % Presence of saliva

-~ u Absence of glycoprotein
= % Presence of bacteria
4 % Absence of bacteria
=  Presence of glycoprotein

Question Number : 19 Question Id : 5403043319 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The ability to alter the ground substance of the periodontal ligament is by:

Options:
, » Collagenase

- # Amylase

= % DexXfranase

4 % Mucinase

=  Hyaluronidase

Question Number : 19 Question Id : 5403043319 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The ability to alter the ground substance of the periodontal ligament is by:

Options:
, » Collagenase

- w Amylase

= % Dextranase
4 % Mucinase
c of Hyaluronidase

Question Number : 20 Question Id : 5403043320 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1

The following criteria by which periodontal microorganisms may be judged to be dental pathogens by
Sigmund Socransky. except:

Options:
, % Dbe associated with disease with increase in number of organisms at diseases sites

> % be eliminated or decreased with treatment

» demonstrate post response

4 % demonstrate virulence factors

=  On the basis of life span

Question Number : 20 Question Id : 5403043320 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The following criteria by which periodontal microorganisms may be judged to be dental pathogens by
Sigmund Socransky, except:

Options:
, % Dbeassociated with disease with increase in number of organisms at diseases sites

> % be eliminated or decreased with treatment

- % demonstrate post response

4 % demonstrate virulence factors

=  On the basis of life span

Question Number : 21 Question Id : 5403043321 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Periodontal pocket wall between tooth and bone is called

Options:

, % tmue pocket

-~ % suprabony pocket
- % pseudo pocket

, % gingival pocket

=  infrabony pocket

Question Number : 21 Question Id : 5403043321 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Periodontal pocket wall between tooth and bone is called
Options:

, % tmue pocket

-~ % suprabony pocket



- % pseudo pocket
4, % gingival pocket

c  infrabony pocket

Question Number : 22 Question Id : 5403043322 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The following are the features of ANUG except for:

Options:
, = causes gnawing radiating pain
-  causes chronic inflammation of gingiva

- % necrosis of inferdental papilla

4 % associated with decrease resistance to infection

= % sloughing of the necrotic tissue presents as a pseudomembrane

Question Number : 22 Question Id : 5403043322 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The following are the features of ANUG except for:
Options:
, w Ccauses gnawing radiating pain

-  causes chronic inflammation of gingiva
- % necrosis of inferdental papilla

4 % associated with decrease resistance to infection

= % sloughing of the necrotic tissue presents as a pseudomembrane

Question Number : 23 Question Id : 5403043323 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The important role in the formation of PDL attachment is by
Options:

, % cpithelial rests

- % inner enamel epithelium

- % epithelial diaphragm
4 Hertwig's epithelial root sheath

= x outer enamel epithelium

Question Number : 23 Question Id : 5403043323 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



The important role in the formation of PDL attachment is by
Options:
1% epithelial rests

- % inner enamel epithelium

5 ® epithelial diaphragm
4 Hertwig's epithelial root sheath

c w outer enamel epithelium

Question Number : 24 Question Id : 5403043324 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In healthy gingiva. the gingival sulcus extends

Options:
1 % 0-3mm

~#% 1-4mm
# 1-2Znum

o 0-2mm

7, S R

# 2-4mm

Question Number : 24 Question Id : 5403043324 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In healthy gingiva, the gingival sulcus extends
Options:

% 0-3mm

=

% 1-4mm

2

=z % 1-2Zmm
4 « 0-2mm
£

% 2-4mm

Question Number : 25 Question Id : 5403043325 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The soft deposit on surface of the teeth which can be easily cleaned is:

Options:

, = Plaque

> % Microniche
5 % Calculus
4 « Materia alba

s % Biofilm



Question Number : 25 Question Id : 5403043325 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The soft deposit on surface of the teeth which can be easily cleaned is:
Options:

, % Plaque

- % Microniche
3 % Calculus
4 « Materia alba

s % Biofilm

Question Number : 26 Question Id : 5403043326 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who is considered as the "Father of modern Orthodontics"?
Options:

1 % Calvin case

- w Henry A Baker

5  Edward H Angle

4 w Emerson Angell

= % Martin Dewey

Question Number : 26 Question Id : 5403043326 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who is considered as the "Father of modern Orthodontics"?
Options:

1 % Calvin case

» w Henry A Baker

 Edward H Angle
% Emerson Angell

% Martin Dewey

Question Number : 27 Question Id : 5403043327 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is not an active component of Fixed orthodontic appliance?

Options:
1 #% Arch wire

-  Ligature wire

5 ® Springs



4 % Elastic chains

= % Separators

Question Number : 27 Question Id : 5403043327 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is not an active component of Fixed orthodontic appliance?

Options:
1 % Arch wire
-  Ligature wire

5 % Springs
4 % Elastic chains

c % Separators

Question Number : 28 Question Id : 5403043328 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The most commonly used method of wound closure is by

Options:
1 ® continuous suture

- % mattress suture

» interrupted suture

La]

% continuous locked suture

e

% subcuticular suture

tn

Question Number : 28 Question Id : 5403043328 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The most commonly used method of wound closure is by

Options:
1 ® continuous suture

5 % mattress suture

» interrupted suture

L]

% continuous locked suture

b

c % subcuticular suture

Question Number : 29 Question Id : 5403043329 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The most common cause of chronic inflammation of the gingival inflammation in a preschool child is:
Options:

, w Apthous stomatitis



> ® ANUG
5  Acute Herpetic gingivostomatitis

, % Chronic periodontitis

= » Vvitamin B deficiency

Question Number : 29 Question Id : 5403043329 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The most common cause of chronic inflammation of the gingival inflammation in a preschool child is:

Options:

, w Apthous stomatitis

> ® ANUG

5  Acute Herpetic gingivostomatitis

4 % Chronic periodontitis

= » Vvitamin B deficiency

Question Number : 30 Question Id : 5403043330 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Buttressing bone formation is seen in:

Options:

1 % Periodontal abscess

> o Trauma from occlusion
- » Gingival abscess

, w Congenital abnormality

= % [Food impaction

Question Number : 30 Question Id : 5403043330 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Buttressing bone formation is seen in:
Options:

1 % Periodontal abscess

~ « Trauma from occlusion

- % Gingival abscess

, % Congenital abnormality

= » [Food impaction

Question Number : 31 Question Id : 5403043331 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



On which basis angular bone defects are classified?
Options:

, ®» Number of pockets

- % Depth of pockets

= % Number of walls included

4 % Type of pockets

=  Number of walls remaining

Question Number : 31 Question Id : 5403043331 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
On which basis angular bone defects are classified?

Options:
. % Number of pockets

-~ % Depth of pockets
= % Number of walls included
4 % 1ype of pockets

=  Number of walls remaining

Question Number : 32 Question Id : 5403043332 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The periodical ligament of a tooth which has lost its antagonist shows on radiograph as:
Options:

, % Increased density

-  Narrowing of PDL space
- % Widening of PDL space
4 = Radioluscence at apex

= % Sclerotic change

Question Number : 32 Question Id : 5403043332 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The periodical ligament of a tooth which has lost its antagonist shows on radiograph as:
Options:

, % Increased density

-  Narrowing of PDL space
- % Widening of PDL space

, = Radioluscence at apex



= % Sclerotic change

Question Number : 33 Question Id : 5403043333 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which type of load is most destructive to the periodontium of teeth?

Options:
1 % Vertical

- % Occlusal

- % Oblique
4 % Apical

5 « Horizontal

Question Number : 33 Question Id : 5403043333 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which type of load is most destructive to the periodontium of teeth?

Options:
1 % Vertical
- % Occlusal

- % Oblique
« Apical

c « Horizontal

Question Number : 34 Question Id : 5403043334 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The following are the signs and symptoms of trauma from occlusion except:

Options:

, = Sensitivity to percussion

-~ % Widening of periodontal space
-  Periodontal pockets

4 = Rootreception

= % Thickening of lamina dura

Question Number : 34 Question Id : 5403043334 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The following are the signs and symptoms of trauma from occlusion except:
Options:

, % Sensitivity to percussion



» % Widening of periodontal space
-  Periodontal pockets
4 % Rootreception

= % Thickening of lamina dura

Question Number : 35 Question Id : 5403043335 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following tooth furcation has poor prognosis?

Options:
; # max 15" molar

- % mand 284 yremolar

= # mand 15" molar

4  Max 15! premolar

= % mand 15" premolar

Question Number : 35 Question Id : 5403043335 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following tooth furcation has poor prognosis?

Options:

15‘[

1 % max 1° molar

Hnd

-~ % mand premolar

IEI

=z % mand 1™ molar

4 v IMax 15! premolar

1!'-51

= x mand 1> premolar

Question Number : 36 Question Id : 5403043336 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following can be determined most accurately by radiographs only?

Options:
, w Periodontal pocket

- % Periodontal abscess
z % Carles

4  Anatomical root length

c % Bifurcation involvement



Question Number : 36 Question Id : 5403043336 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following can be determined most accurately by radiographs only?
Options:
, w Periodontal pocket

- % Periodontal abscess
3 % Caries

4  Anatomical root length

c % Bifurcation involvement

Question Number : 37 Question Id : 5403043337 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following instruments has a two-point contact and tooth?

Options:

1 % Sickle

- « Hoe

=z % Curette

4 % Cumin scaler
s % File

Question Number : 37 Question Id : 5403043337 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following instruments has a two-point contact and tooth?

Options:

1 % Sickle

- « Hoe

=z % Curette

4 % Cumin scaler
c % File

Question Number : 38 Question Id : 5403043338 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Following are the reasons for sharpening of dental instruments except:

Options:
, w Decrease muscle fatigue

- % Increase working efficiency
-  Prevent heat buildup

4 = Decrease working slippage & tissue damage



c % Increase tactile sensation

Question Number : 38 Question Id : 5403043338 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Following are the reasons for sharpening of dental instruments except:

Options:
, w Decrease muscle fatigue

- % Increase working efficiency
-  Prevent heat buildup
, % Decrease working slippage & tissue damage

c % Increase tactile sensation

Question Number : 39 Question Id : 5403043339 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In case of broken curette tips in the periodontal pocket which instrument is used for removal?
Options:
, w Prophy-jet

> % Another curette
-  Schwartz periotrievers
4 % EVA system

c % DBarnhart instrument

Question Number : 39 Question Id : 5403043339 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In case of broken curette tips in the periodontal pocket which instrument is used for removal?
Options:

, w» Prophy-jet

> % Another curette
-  Schwartz periotrievers
4 % EVAsystem

c % Bambhart instrument

Question Number : 40 Question Id : 5403043340 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Sometimes after scaling, hard black deposits can be seen which may be due to:
Options:

, w Patients with tobacco chewing habits



- % Blood clot formation on tooth surface

5 % Poor oral hygiene
4 « Shrinkage of gingiva

= % lmproper scaling

Question Number : 40 Question Id : 5403043340 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Sometimes after scaling. hard black deposits can be seen which may be due to:
Options:

, = Patients with tobacco chewing habits

> % Blood clot formation on tooth surface

- % Poor oral hygiene

4 « Shrinkage of gingiva

= % lmproper scaling

Question Number : 41 Question Id : 5403043341 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In a patient with severe gingival recession. which tooth brushing technique should be used?

Options:
1 % DBass

> #% Charter
% « Stillman
4 % Fones
z % Roll

Question Number : 41 Question Id : 5403043341 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In a patient with severe gingival recession. which tooth brushing technique should be used?

Options:
1 % DBass

> #% Charter
% « Stillman
4 % Fones
z % Roll

Question Number : 42 Question Id : 5403043342 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



Indications of Gmgivectomy is:
Options:

, % infra bony pockets

- % aesthetic regions

- % pocket depth below Mucogingival junction

4 « Supra bony pockets

c w edema of gingiva

Question Number : 42 Question Id : 5403043342 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Indications of Gingivectomy is:

Options:

, % infra bony pockets

- % aesthetic regions

- % pocket depth below Mucogingival junction
4 « Supra bony pockets

= w edema of gingiva

Question Number : 43 Question Id : 5403043343 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which instrument is used for Gingivectomy?

Options:
1 % Scaler

« Kirkland
% Merrifield
% Orbans

ME e HE D

# Burkett's

Question Number : 43 Question Id : 5403043343 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which instrument is used for Gingivectomy?

Options:
1 % Scaler

- « Kirkland
z % Merrifield
4 % Orbans

c % DBurkett's



Question Number : 44 Question Id : 5403043344 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The most important factor to be considered in Periodontal flap is:
Options:
, = Length of free gingiva

-  Amount of attached gingiva
5 ® Depth of vestibule

4 % Frenum attachment

c % Sulcular depth

Question Number : 44 Question Id : 5403043344 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The most important factor to be considered in Periodontal flap is:

Options:
, w» Length of free gingiva
-  Amount of attached gingiva

- % Depth of vestibule

4 % Frenum attachment

= % Sulcular depth

Question Number : 45 Question Id : 5403043345 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
For pocket elimination & to increase width of attached gingiva. which Flap technique is considered?

Options:
, % Modified widman flap

-~ » Lateral pedicel flap
5  Apically displaced flap

4 % Coronally displaced flap

= % Papilla preservation flap

Question Number : 45 Question Id : 5403043345 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
For pocket elimination & to increase width of attached gingiva. which Flap technique is considered?

Options:
, » Modified widman flap

- % Lateral pedicel flap



-  Apically displaced flap

4, % Coronally displaced flap

= » Papilla preservation flap

Question Number : 46 Question Id : 5403043346 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The Mucogingival surgical technique used to deepen the vestibule by:

Options:
, w [ree gingival grafts
- u laterally displaced pedicle graft

3 % coronally displaced flap

4 « Iiee autogenous grafts

= u apically displaced flap

Question Number : 46 Question Id : 5403043346 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The Mucogingival surgical technique used to deepen the vestibule by:

Options:
, w Iree gingival grafts

- % laterally displaced pedicle graft
- % coronally displaced flap
4 « liee autogenous grafts

c % apically displaced flap

Question Number : 47 Question Id : 5403043347 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Lugol's or Schiller’s solution is used to stain:
Options:
|  Keratinized gingiva

> # Plaque
- % Aftached gingiva
4 % Calculus

= % Non-keratinized gingiva

Question Number : 47 Question Id : 5403043347 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



Lugol's or Schiller’s solution is used to stain:
Options:

|  Keratinized gingiva
> % Plaque

- % Aftached gingiva

4 % Calculus

Non-keratinized gingiva

e

e

Question Number : 48 Question Id : 5403043348 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Occlusal night guards are given to:

Options:
, w» 7To guard the dentition

> « To alter the muscle forces

- » Reduce pocket formation

4 % Prevent bruxism

= » Permit elongation of teeth

Question Number : 48 Question Id : 5403043348 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Occlusal night guards are given to:

Options:
, % To guard the dentition

> « To alter the muscle forces

- % Reduce pocket formation

4 % Prevent bruxism

= % Permit elongation of teeth

Question Number : 49 Question Id : 5403043349 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In Leukemic patients gingival bleeding occurs during scaling due to:
Options:

1 % Decreased Ca level in blood

-~ % Increased leukocytes

3 % Increased Ca level in blood

, = Deficiency in clotting factor



c « Platelet disorder

Question Number : 49 Question Id : 5403043349 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In Leukemic patients gingival bleeding occurs during scaling due to:
Options:

1 % Decreased Ca level in blood

- % Increased leukocytes

= % Increased Ca level in blood

, = Deficiency in clotting factor

c « Platelet disorder

Question Number : 50 Question Id : 5403043350 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
A butt joint is creating Cavosurface angle:
Options:

L % 707 joint

> o 90 joint

. x 1207 joint
, = 80°joint
 » 180 joint

Question Number : 50 Question Id : 5403043350 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

A butt joint is creating Cavosurface angle:
Options:

| % 707 joint

o o 90 joint
. x 120%joint

, % 80°joint

- » 180° joint

Question Number : 51 Question Id : 5403043351 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
A prepared cavity is best protected from moisture by:



Options:
1 % cotton rolls

- % air spray

- u saliva ejector

4 « 1ubber dam

= % paper napkin

Question Number : 51 Question Id : 5403043351 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

A prepared cavity is best protected from moisture by:
Options:

1 % cofton rolls

- % Air spray

- % saliva ejector

4 « mbber dam

= % paper napkin

Question Number : 52 Question Id : 5403043352 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Eburnation of the dentin is seen in which type of caries?
Options:

% acute caries

—

~ « arrested caries

% proximal caries
4 % chronic caries

5 # root caries

Question Number : 52 Question Id : 5403043352 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Eburnation of the dentin is seen in which type of caries?
Options:

% acute caries

—

~ « arrested caries
5 % proximal caries
4 % chronic caries

5 # root caries



Question Number : 53 Question Id : 5403043353 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In a class II cavity preparation on a maxillary 15 molar, which of the pulp horns are likely to get exposed?
Options:

, w Distolingual

-~ % Distolingual & Distobuccal

-  Mesiolingual & Mesiobuccal

4 % Mesiolingual & Distobuccal

= % Distolingual & Mesiobuccal

Question Number : 53 Question Id : 5403043353 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In a class II cavity preparation on a maxillary 15 molar, which of the pulp horns are likely to get exposed?
Options:

, % Distolingual

-~ % Distolingual & Distobuccal
-  Mesiolingual & Mesiobuccal
4 % Mesiolingual & Distobuccal

= » Distolingual & Mesiobuccal

Question Number : 54 Question Id : 5403043354 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Class I'V cavity involves:

Options:

, w proximal surface involving incisal edge of posterior teeth

- % involves buccal surface of anterior teeth

-  Pproximal surface involving incisal edge of anterior teeth

4, % proximal surface not involving incisal edge of anterior teeth

= » gingival surface of anterior teeth

Question Number : 54 Question Id : 5403043354 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Class IV cavity involves:

Options:

, % proximal surface involving incisal edge of posterior teeth

- % involves buccal surface of anterior teeth



-  proximal surface involving incisal edge of anterior teeth
4, % proximal surface not involving incisal edge of anterior teeth

= w gingival surface of anterior teeth

Question Number : 55 Question Id : 5403043355 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The most common cause of fracture at the isthmus of class II dental amalgam restoration is:

Options:
, w Improper condensation

- % moisture contamination during amalgam restoration
- % delayed expansion
, % inadequate width at isthmus

inadequate depth at isthmus

Question Number : 55 Question Id : 5403043355 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The most common cause of fracture at the 1sthmus of class II dental amalgam restoration is:

Options:
, % Improper condensation

- % Inoisture contamination during amalgam restoration
- % delayed expansion
, = inadequate width at isthmus

c  inadequate depth at isthmus

Question Number : 56 Question Id : 5403043356 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In class V cavity wall is absent in:

Options:

, = Gingival wall
-  Pulpal wall
5 % Mesial wall
4 % Distal wall
s % Axial wall

Question Number : 56 Question Id : 5403043356 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



In class V cavity wall is absent in:
Options:
, w Gingival wall

-  Pulpal wall

5 % Mesial wall
4 % Distal wall

s % Axial wall

Question Number : 57 Question Id : 5403043357 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Following are the indications for cavity varnish under amalgam restorations except:

Options:

, w Improve marginal seal

-  Prevent galvanic currents reaching pulp
5 % Prevents micro leakage

4 % Prevents discoloration

c % Reduces post-operative sensitivity

Question Number : 57 Question Id : 5403043357 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Following are the indications for cavity varnish under amalgam restorations except:
Options:
, w Improve marginal seal

-  Prevent galvanic currents reaching pulp

» Prevents micro leakage
4 % Prevents discoloration
» Reduces post-operative sensitivity

Question Number : 58 Question Id : 5403043358 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Advantages of composites over unfilled resins are as following, which one is false?

Options:
, % Low polymerization shrinkage

» % Low water absorption
- » Lower coefficient of thermal expansion

4 « High color stability



= » High abrasive resistance

Question Number : 58 Question Id : 5403043358 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Advantages of composites over unfilled resins are as following, which one is false?

Options:
, % Low polymerization shrinkage

» % Low water absorption
- » Lower coefficient of thermal expansion
4 « High color stability

= » High abrasive resistance

Question Number : 59 Question Id : 5403043359 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following abrasives is maximum in hardness?

Options:
1 « Boron carbide
-~ % Sand

- % Emery
4 % Silicon carbide

% Aluminium oxide

Question Number : 59 Question Id : 5403043359 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following abrasives is maximum in hardness?

Options:
1 « Boron carbide
-~ % Sand

5 % Emery
4 % Silicon carbide

% Aluminium oxide

Question Number : 60 Question Id : 5403043360 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Internal resorption treatment is carried out by method.
Options:

, % Pulpotomy



5 % PA curettage

-  Extirpation of pulp & calcium hydroxide dressing
4 % Extirpation of pulp & formocresol dressing

= % Pulp capping

Question Number : 60 Question Id : 5403043360 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Internal resorption treatment is carried out by method.
Options:

, % Pulpotomy

o % PA curettage

-  Extirpation of pulp & calcium hydroxide dressing
, = Extirpation of pulp & formocresol dressing

= % Pulp capping

Question Number : 61 Question Id : 5403043361 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is a disinfectant, sterilizing agent & antiseptic?

Options:
, w» Hydrogen peroxide

-  Sodium hypochlorite

5 % Glutaraldehyde

4 w Formaldehyde

c w Methylated spirit

Question Number : 61 Question Id : 5403043361 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is a disinfectant, sterilizing agent & antiseptic?

Options:
, w» Hydrogen peroxide

-  Sodium hypochlorite

5 % Glutaraldehyde

4 w Formaldehyde

= % Methylated spirit



Question Number : 62 Question Id : 5403043362 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following statements is false about Gutta-percha?

Options:

, » Can be sterilized by heating.

-~ % They brittle with time.

- % Ithas 2 forms alpha & beta.
4  Composition: 60-70% GP and 20% Zno

= % Composition : 20% GP & 60 —70% Zno

Question Number : 62 Question Id : 5403043362 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following statements is false about Gutta-percha?

Options:

, » Can be sterilized by heating.

> % They brittle with time.
- % Ithas 2 forms alpha & beta.
4  Composition: 60-70% GP and 20% Zno

= % Composition : 20% GP & 60 —70% Zno

Question Number : 63 Question Id : 5403043363 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The calcified root canals can be cleared using
Options:

, % Hydrogen peroxide 3%
> « EDTA 17%

% Sodium hypochlorite 2.6%

A

4 % Saline
c % Formocresol

Question Number : 63 Question Id : 5403043363 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The calcified root canals can be cleared using

Options:
1% Hydrogen peroxide 3%

> « EDTA 17%

- % Sodium hypochlorite 2.6%



4 % Saline

s # Formocresol

Question Number : 64 Question Id : 5403043364 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The vertical root fracture of tooth. seen with GP obturation is due to:

Options:
1 % Lateral condensation

-  Vvertical compression of warm GP points
- = Sectional filling
4 w Useof spreader

= % Injection molding technique

Question Number : 64 Question Id : 5403043364 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The vertical root fracture of tooth. seen with GP obturation is due to:

Options:
1 % Lateral condensation

-  Vvertical compression of warm GP points
- = Sectional filling
4 w Useof spreader

= % Injection molding technique

Question Number : 65 Question Id : 5403043365 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In sedation, more than 40% of N»>O causes:
Options:

1 #% Anoxia

o % Apnea

3 « Amnesia

, % Diffusion hypoxia

c % Afaxia

Question Number : 65 Question Id : 5403043365 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In sedation, more than 40% of N>O causes:

Options:



1 % Anoxia

> % Apnea

o Amnesia

)
o

, % Diffusion hypoxia

% Atfaxia

Question Number : 66 Question Id : 5403043366 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In child psychology. which one of the following is not a Behavioral theory?

Options:
, w Hierarchy of needs

-~ % Social learning theory
- » Classical conditioning
4 % Conditioning

=  Psychosocial theory

Question Number : 66 Question Id : 5403043366 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In child psychology. which one of the following is not a Behavioral theory?

Options:
, w Hierarchy of needs

-~ % Social learning theory
- » Classical conditioning
4 % Conditioning

=  Psychosocial theory

Question Number : 67 Question Id : 5403043367 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In case of Nursing bottle caries, the first teeth to become affected are:

Options:
1 % Mandibular molars

- % Maxillary & mandibular anterior teeth
-  Maxillary anterior teeth

4 % Mandibular canines

c % Mandibular anterior teeth



Question Number : 67 Question Id : 5403043367 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In case of Nursing bottle caries, the first teeth to become affected are:

Options:
1 % Mandibular molars

- % Maxillary & mandibular anterior teeth
» Maxillary anterior teeth

4 % Mandibular canines

s % Mandibular anterior teeth

Question Number : 68 Question Id : 5403043368 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The size of Rubber dam used in children is:
Options:

1 ®% 06x6"

 SX5"

® 3Ix3"

x 4x4"

% 8x8"

Question Number : 68 Question Id : 5403043368 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The size of Rubber dam used in children is:
Options:

1 #® 06xX6"

o o 5X5"

= % 3x3"

4 % 4x4"

5 % 8x8"

Question Number : 69 Question Id : 5403043369 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The contraindications for the use of Rubber dam in children. except:
Options:
| « \nco-operative child

-~ % Upper respiratory infections
- » Presence of fixed ortho appliance

4 % Recently erupted tooth



= u Allergy to latex

Question Number : 69 Question Id : 5403043369 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The contraindications for the use of Rubber dam in children. except:
Options:

|  Un co-operative child

-~ % Upper respiratory infections

- » Presence of fixed ortho appliance

4 = Recently erupted tooth

c u Allergy to latex

Question Number : 70 Question Id : 5403043370 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

One of the following is false about Ellis & Dewey classification:
Options:

. w Class 3 —Fracture involving dental pulp

> % Class 4 — Non-vital tooth
= # Class 5 — Avulsion
4 « Class 7 — Fracture of crown en masse

% Class 6 — Root fracture with or without crown fracture

Question Number : 70 Question Id : 5403043370 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
One of the following is false about Ellis & Dewey classification:
Options:

, % Class 3 —Fracture involving dental pulp

- % Class 4 —Non-vital tooth

=z % Class 5 — Avulsion
4 « Class 7 — Fracture of crown en masse

c % Class 6 — Root fracture with or without crown fracture

Question Number : 71 Question Id : 5403043371 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
18 an indication for Direct pulp capping.

Options:
, % Painat night



5 % Spontaneous pain
» Traumatic exposures in dry clean field
% Tooth mobility

= % Excess bleeding at the exposure site

Question Number : 71 Question Id : 5403043371 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
1s an indication for Direct pulp capping.

Options:
, % Painatnight

5 % Spontaneous pain
-  Iraumatic exposures in dry clean field
4 % Tooth mobility

= % Excess bleeding at the exposure site

Question Number : 72 Question Id : 5403043372 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Inflammation of is called as Cellulitis.

Options:
1 % Skin
- % Muscle

-  Deep fascia

4 % Lymph nodes

5 % Subcutaneous tissue

Question Number : 72 Question Id : 5403043372 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Inflammation of is called as Cellulitis.

Options:
1 % Skin

- % Muscle

Deep fascia

S

=
4 % Lymph nodes

c % Subcutaneous tissue

Question Number : 73 Question Id : 5403043373 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



The fascial spaces involved in Ludwig's angina are:
Options:

, w Bilateral sublingual spaces

- % Unilateral submandibular & sublingual spaces
- % Bilateral submandibular & sublingual spaces

, % Unilateral submandibular. sublingual & submental spaces

Bilateral submandibular. sublingual & submental spaces

Question Number : 73 Question Id : 5403043373 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The fascial spaces involved in Ludwig's angina are:
Options:

, w Bilateral sublingual spaces

» Unilateral submandibular & sublingual spaces
- % Bilateral submandibular & sublingual spaces

, % Unilateral submandibular. sublingual & submental spaces

=  Bilateral submandibular. sublingual & submental spaces

Question Number : 74 Question Id : 5403043374 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The type of epidemic disease, which spreads by person to person contact and evolve more slowly is
called

Options:

1 % Pandemic

~ « Prosodemic

% % Endemic

4 % Sporadic

c % Epidemic

Question Number : 74 Question Id : 5403043374 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The type of epidemic disease. which spreads by person to person contact and evolve more slowly is
called

Options:

1 % Pandemic

> « Prosodemic

z % Endemic



4 % Sporadic

= % Epidemic

Question Number : 75 Question Id : 5403043375 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The concept of prevention. in modern days has become broad based and includes four levels of prevention.
Find out the wrong option.

Options:

, « Case control prevention

- % Primordial prevention
- » Primary prevention

4 % Secondary prevention

c % lertiary prevention

Question Number : 75 Question Id : 5403043375 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The concept of prevention. in modern days has become broad based and includes four levels of prevention.

Find out the wrong option.
Options:
1.« Case control prevention

- w Primordial prevention
- % Primary prevention
4 = Secondary prevention

c w lertiary prevention

Question Number : 76 Question Id : 5403043376 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Level of Fluoride in drinking water should be:

Options:
, % 2.0 parts/million

5 ol 1.0 parts/million
- % 10 parts/million
4 % 0.1 parts/million

= % 0.01 parts/ million

Question Number : 76 Question Id : 5403043376 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
Level of Fluoride in drinking water should be:

Options:
, % 2.0 parts/million

5 o 1.0 parts/million
5 % 10 parts/million

4 % 0.1parts/million

c % 0.01 parts/ million

Question Number : 77 Question Id : 5403043377 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The infection which has the shortest incubation period:

Options:

. + Typhoid

> % Measles

- % Hepatitis-A
4 % Mumps

= % Chickenpox

Question Number : 77 Question Id : 5403043377 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The infection which has the shortest incubation period:

Options:
. + Typhoid
> % Measles

- % Hepatitis-A

4 % Mumps

= % Chickenpox

Question Number : 78 Question Id : 5403043378 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following statements is wrong?

Options:
. » Koplik’s spots seen in measles

- « Roth spot seen in typhoid

- » Forchheimer spots seen in rubella



4 % Herberden’s nodes seen in osteoarthritis

c % Bitots spot seen in vitamin A deficiency (eye)

Question Number : 78 Question Id : 5403043378 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following statements is wrong?

Options:
, w» XKoplik's spots seen in measles
-  Roth spot seen in typhoid

- % Forchheimer spots seen in rubella

4 % Herberden’s nodes seen in osteoarthritis

= % DBitots spot seen in vitamin A deficiency (eye)

Question Number : 79 Question Id : 5403043379 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Glasgow coma scale provides a grading of coma by using all. except:
Options:

1 % Consciousness

o o Sensory loss

« Eye opening

L]

« Motor response

w verbal response

Ln

Question Number : 79 Question Id : 5403043379 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Glasgow coma scale provides a grading of coma by using all. except:
Options:

1 % Consciousness

o  Sensory loss

- » Eye opening

4 % Motor response

= % verbal response

Question Number : 80 Question Id : 5403043380 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In conn's disease, there is an excess production of

Options:



1 % Glucocorticoids
> #% Adrenaline

= % Noradrenaline
4 « Aldosterone

5 % Cortisol

Question Number : 80 Question Id : 5403043380 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In conn's disease, there is an excess production of

Options:

1 # Glucocorticoids
> % Adrenaline

= % Noradrenaline
4 « Aldosterone

c % Cortisol

Question Number : 81 Question Id : 5403043381 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following is not a characteristic feature of Diabetes mellitus?
Options:

1 % Glucosuria

5 ® Kussmaul breathing

= « Ketoalkalosis
4 % Acetone breath

= % Multiple fleeting periodontal abscesses

Question Number : 81 Question Id : 5403043381 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following is not a characteristic feature of Diabetes mellitus?
Options:

1 % Glucosuria

5 ® Kussmaul breathing

5 « Ketoalkalosis
4 % Acetone breath

= % Multiple fleeting periodontal abscesses

Question Number : 82 Question Id : 5403043382 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



In case of Hypothyroidism, which of the following is false?
Options:
, w» Bradycardia

- % Iron deficiency anemia

5 % Weight gain

4 « Heat intolerance

= % Alopecia

Question Number : 82 Question Id : 5403043382 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In case of Hypothyroidism, which of the following is false?
Options:

, w» Bradycardia

-~ % Irondeficiency anemia

5 % Weight gain

4 « Heat intolerance

= » Alopecia

Question Number : 83 Question Id : 5403043383 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Hypertrophy of filiform papillae involved in which condition?

Options:
, w Benign migratory glossitis

-~ % Riboflavin deficiency
-  Lingua villosa
4 % Scarlet fever

= % Geographic tongue

Question Number : 83 Question Id : 5403043383 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Hypertrophy of filiform papillae involved in which condition?

Options:
, w Benign migratory glossitis

- % Riboflavin deficiency
-  Lingua villosa

4 % Scarlet fever



= % Geographic tongue

Question Number : 84 Question Id : 5403043384 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which one of the following is not a characteristic feature of Treacher Collins syndrome/ Mandibulofacial
dysostosis?

Options:

, w» Hypoplasia of facial bones

-  Delayed closure of fontanels

= % Malformation of ears

4 % Macrostomia with abnormal high palate

c % Patients have Bird like or Fish like face

Question Number : 84 Question Id : 5403043384 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which one of the following is not a characteristic feature of Treacher Collins syndrome/ Mandibulofacial
dysostosis?

Options:

, » Hypoplasia of facial bones

-  Delayed closure of fontanels

= % Malformation of ears

4 = Macrostomia with abnormal high palate

c % Patients have Bird like or Fish like face

Question Number : 85 Question Id : 5403043385 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is an oral pre cancer lesion?

Options:
1 % Pseudomembranous candidiasis

- % Leukemia

- % Oral hairy leukoplakia
4 « Speckled leukoplakia

= % White sponge nevus

Question Number : 85 Question Id : 5403043385 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is an oral pre cancer lesion?

Options:



% Pseudomembranous candidiasis

=

> % Leukemia

» Oral hairy leukoplakia

A

~ Speckled leukoplakia

s

% White sponge nevus

Question Number : 86 Question Id : 5403043386 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Heavy metals cause gingival pigmentation. Bush red/deep blue linear pigmentation in
marginal gingiva is seen because of:

Options:
1 % Arsenic

> % Silver

% Bismuth

W

-« Lead

i

% Mercury

Question Number : 86 Question Id : 5403043386 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Heavy metals cause gingival pigmentation. Bush red/deep blue linear pigmentation in
marginal gingiva is seen because of:

Options:

1 % Arsenic
-~ % Silver
= % Bismuth
4 « Lead

c % Mercury

Question Number : 87 Question Id : 5403043387 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Multiple fractures are seen in:
Options:
; = Osteoporosis

-  Osteogenesis imperfecta

» Osteomyelitis
4 % Rickets

c % Osteitis deformans



Question Number : 87 Question Id : 5403043387 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Multiple fractures are seen n:
Options:
, » Osteoporosis

-  Osteogenesis imperfecta

» Osteomyelitis
4 % Rickets

% Osteitis deformans

'

Question Number : 88 Question Id : 5403043388 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

During extraction of which maxillary tooth. it is most likely to displace a root into maxillary sinus?
Options:

. # 1% premolar

> « 1 molar
z % Canine

2% premolar

% 289 mmolar

Question Number : 88 Question Id : 5403043388 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
During extraction of which maxillary tooth. it is most likely to displace a root into maxillary sinus?

Options:

ISI

| % premolar

ISI

> « 1° molar

3 % Canine

»nd

4 % premolar

% 2% molar

Question Number : 89 Question Id : 5403043389 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In a pregnant woman. the right time for extraction 1s?

Options:
1 % 1% trimester



> « 2" trimester
5 % 3™ trimester
4 % 15t & 27 trimester

c % 15 & 3™ trimester

Question Number : 89 Question Id : 5403043389 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In a pregnant woman. the right time for extraction is?

Options:
1 % 1% trimester

> « 2% trimester

31’[1

2 % trimester

4 % 15 & 204 trimester

e % 15 & 3™ trimester

Question Number : 90 Question Id : 5403043390 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Clinical examination of an adult patient sustaining a subcondylar fracture on left side shows:
Options:
, % Irismus & bilateral crepitus

- % Intraoral bleeding
- % Deviation of mandible to the right on opening
4 « Inability to deviate the mandible to the right

c % Mandible deviates towards the side of fracture

Question Number : 90 Question Id : 5403043390 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Clinical examination of an adult patient sustaining a subcondylar fracture on left side shows:

Options:
, % Irismus & bilateral crepitus

- % Intraoral bleeding
- % Deviation of mandible to the right on opening
4 « Inability to deviate the mandible to the right

s % Mandible deviates towards the side of fracture



Question Number : 91 Question Id : 5403043391 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is used to restrict X-ray beam?
Options:

, w» Increase kvp

- % Aluminmm filter
3 « Collimation of beam

4 = Decrease target object distance

= % Useagrid

Question Number : 91 Question Id : 5403043391 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is used to restrict X-ray beam?

Options:
, % Increase kvp

> % Aluminium filter
= « Collimation of beam

4 % Decrease target object distance

c % Useagrid

Question Number : 92 Question Id : 5403043392 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The main reason for placing an Aluminium filter in the primary beam of radiation is for:

Options:
, w» Decrease development time

- % Increase image sharpness
- % Reduce exposure time
4  Reduce radiation to the patient

= % Increase exposure time

Question Number : 92 Question Id : 5403043392 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The main reason for placing an Aluminium filter in the primary beam of radiation is for:
Options:

, w» Decrease development time

- % Increase image sharpness



- % Reduce exposure time

4 « Reduce radiation to the patient

c % Increase exposure time

Question Number : 93 Question Id : 5403043393 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The most radiosensitive cell of our body is?

Options:
1 % Muscle cell

-~ % Cartilage cell

z % Nerve cell
4 % Red blood cells
5 « White blood cells

Question Number : 93 Question Id : 5403043393 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The most radiosensitive cell of our body is?

Options:
1 ® Muscle cell

-~ w Cartilage cell

2 % Nerve cell
4 % Red blood cells
5 « White blood cells

Question Number : 94 Question Id : 5403043394 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The characteristic feature of secondary syphilis 1s?

Options:
1 % Hutchinson's triad

- % Painless palpable inguinal lymph nodes

o Snail track ulcers

A

4 = Rhagades

c % Gumma

Question Number : 94 Question Id : 5403043394 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The characteristic feature of secondary syphilis is?

Options:



1 % Hutchinson's triad

- w Painless palpable inguinal lymph nodes

" Snail track ulcers

.UJ
s

4 = Rhagades

c % Gumma

Question Number : 95 Question Id : 5403043395 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Budd-Chiari syndrome is most commeonly due to:

Options:
1 # IVC obstruction

-  Hepatic vein obstruction

- % Splenomegaly

4 % Acute portal hypertension

= » Congenital portal hypertension

Question Number : 95 Question Id : 5403043395 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Budd-Chiari syndrome is most commeonly due to:

Options:
1 % IVC obstruction

-  Hepatic vein obstruction
- % Splenomegaly
4 = Acute portal hypertension

= w Congenital portal hypertension

Question Number : 96 Question Id : 5403043396 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Increased level of SGOT is seen primarily in:
Options:

1 % Addison disease

> % Uncontrolled diabetes

3 o Liver disease

4 % Epilepsy

c % Renal disease



Question Number : 96 Question Id : 5403043396 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Increased level of SGOT is seen primarily in:
Options:

1 % Addison disease

- % Uncontrolled diabetes

3 o Liver disease

4 % Epilepsy

5 % Renal disease

Question Number : 97 Question Id : 5403043397 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
H. pylori infection causes the following. except:

Options:
1 % Gastric carcinoma

Fundal gastritis

%

B
5 % Gastric ulcer

4 % Duodenal ulcer

= % Gastric lymphoma

Question Number : 97 Question Id : 5403043397 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
H. pylori infection causes the following. except:

Options:
1 % Gastric carcinoma

» Fundal gastritis

P2

z % Gastric ulcer
4 % Duodenal ulcer

% Gastric lymphoma

Question Number : 98 Question Id : 5403043398 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The causes of metabolic alkalosis 1s:
Options:

1 % Diarrthoea

5 of Vomiting

- % Hypovolemic shock

4 % Alcoholism



c % Diabetic ketoacidosis

Question Number : 98 Question Id : 5403043398 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The canses of metabolic alkalosis is:
Options:

1 % Diarrthoea
o  Vomiting

» Hypovolemic shock

A

4 % Alcoholism

c % Diabetic Ketoacidosis

Question Number : 99 Question Id : 5403043399 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Bleeding time is prolonged in:
Options:

, % Factor VIII deficiency

- % Christmas factor deficiency

= « Von Willebrand Disease
4 % Leukemia

e % vitamin K deficiency

Question Number : 99 Question Id : 5403043399 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Bleeding time is prolonged in:
Options:

, % Factor VIII deficiency

-~ % Christmas factor deficiency

= « Vvon Willebrand Disease
4 % Leukemia

= » Vvitamin K deficiency

Question Number : 100 Question Id : 5403043400 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In beta-thalassemia. the red blood cells are typically:
Options:

, % Macrocytic hyper chromic



-~ % Macrocytic normochromic

=  Microcytic hypochromic
4 % Normocytic hypochromic

= % Normocytic normochromic

Question Number : 100 Question Id : 5403043400 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In beta-thalassemia. the red blood cells are typically:

Options:
, % Macrocytic hyper chromic

-~ % Macrocytic normochromic

=  Microcytic hypochromic
4 % Normocytic hypochromic

= % Normocytic normochromic

General Kncawledge

Group Maximum Duration : 60
Group Minimum Duration : 60
Revisit allowed for view? : No
Revisit allowed for edit?: No

GE of Chhattisgarh

Mandatory or Optional: Mandatory
Display Number Panel: Yes
Group All Questions: No

Cry @

Question Number : 101 Question Id : 5403043401 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1 f

Who inaugurated congress building in 1940 at Raipur? [ 4@,,1 @
Options: T C¢ 0,\7'

1 % Jawaharlal Nehru /g,c

> /[ Shri Vallabh Bhai Patel \'
= % Shri Ravi Shankar Shukla

4, % ShriNarayan Meghawale

= % None of the other options



Question Number : 101 Question Id : 5403043401 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

1940 &, TAR H FEH 94 F 35ueA Faa FFar ar?
Options:

| % STEEY ATl Ag®

, » O ToAN HS T
- A T o
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Question Number : 102 Question Id : 5403043402 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
When Raipur @ commissionary formed?

Options:

L (s

> % 1876
3 % 1880
4 % 1885
c % 1911

®

&

#

Question Number : 102 Question Id : 5403043402 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

TR FFEAT FF F1?

Options:

v 1862
. % 1876
5 » 1880
, % 1885
= % 1911

Question Number : 103 Question Id : 5403043403 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Identify the name of the person of Chhattisgarh, who was the main worker of Swarajva
party? —

Options< v
1 ) E Raghavendra Ranl\




-~ % Pt Lochan Prasad Pandey
- % Pyare Lal Gupta
4 % Thalur Chhedi Lal

= % None of the other options

Question Number : 103 Question Id : 5403043403 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Tedl@9e & Uk O Shiad 1 A7 Fa131, S FRd 3 & 999 U]

UT|
Options:

| v 5 THER 19
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R A o
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Question Number : 104 Question Id : 5403043404 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1 ey |
What was the purpose nf/(jﬂndhiji coming to Chhattisgarh, for the second time?

Options:
1 % To do civil disobedience movement

» % To give support to Khadi

= % Women welfare

S Welfare of Harijan

= » None of the other options

Question Number : 104 Question Id : 5403043404 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
aeft S &7 SediHee H GHY a3 H FAT 3327 AT?

Options:
| % HEAT FTAT HIGIAA LAl

o % WA FH FAYST FLAT
5 x HET FeIToT
, v BN 3ER
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Question Number : 105 Question Id : 5403043405 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is known aﬁaudhi of Chhattisgarh

Options:

« Pandit Lochan Prasad Pandey

2

1
% Mukutdhar Pandey

Zé Pt. Sunder Lal Sharma <

4 % Thakur Chhedilal

= % None of the other options

Question Number : 105 Question Id : 5403043405 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 106 Question Id : 5403043406 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1 < \

The biggest/princelj.r estate of Chhattisgath was @]’b\ @
Options: )'1-4)\]) ni+4 y
, » Raigarh

. » Khairagarh > P]’t«'nce (t-7

’ s

4 % Saranggarh

= % None of the other options

Question Number : 106 Question Id : 5403043406 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

TodIgee &l §9H 37 NIrEd of7|



Options:
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Question Number : 107 Question Id : 5403043407 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who hoisted the flag on 15 August 1947 at Gandhi-Chowk in Raipur?
Options: ] -

, w Shivdas Doga

5 % Pt. Laxminarayan Das

- » Thakur Pyarelal

—
4 f Waman Rao Lakhe \

= » None of the other options

Question Number : 107 Question Id : 5403043407 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

15 3FTET 1947 Fr TR F IMefr Al # Froad 2 wEaar ar?
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Options:
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Question Number : 108 Question Id : 5403043408 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who was with Gandhiji during his first lélﬂla‘rtisgarh visit?

—

Options:
1 % Vinoba Bhave

- % Dr Rajendra Prasad

, % Chittaranjan Das



= % None of the other options

Question Number : 108 Question Id : 5403043408 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 109 Question Id : 5403043409 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Ramgiri Jescribed g Meghdooy is situated in which district of Chhattisgarh?

Options:
1R Jan_]glr- Chﬂﬂlpa

- % Jashpur

4 % Dantewara

= » None of the other options

Question Number : 109 Question Id : 5403043409 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 110 Question Id : 5403043410 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who had formed Vanarsen

during the civil disobedience movement in Chhattisgarh?

|




Options:
1 % Yati Yatan Lal

- % Pt. Sunderlal Sharma

- w Khubchand Baghel

% None of the other options

=3

Question Number : 110 Question Id : 5403043410 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

TodTHIE H JiaAT JTAT eeaed & SN IaITAT T 5T v forar ar?

Options:
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Question Number : 111 Question 1d : 5403043411 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Where is ﬂle@de.ﬂ theater placezsimated in Chhattisgarh?

Options:

1.
~ % DBaster
- % Sirpur

4 % Bilaspur

= » None of the other options

Question Number : 111 Question 1d : 5403043411 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
TedEE H HIH [T ACT TIS Fal W eud &2

Options:
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Question Number : 112 Question Id : 5403043412 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who was the originator or father cf Janjgir city?

Options:
1 I; Jajalya Dev )

> % Someshwar Dev

e

- » Jaysingh Dev
4 % Ram Dev

= » None of the other options

Question Number : 112 Question Id : 5403043412 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 113 Question Id : 5403043413 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1 /l
Which place has tl}é maximum height in Chhattisgarh?

Options:

1 [ Gam‘latav

> % Mainpat

5 % Deogarh
, » Bandargarh

= % None of the other options

Question Number : 113 Question Id : 5403043413 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 114 Question Id : 5403043414 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1\
f Madam Silli dam is situated in which district?

Options:
1 1 Dhamtari i
R

- % Raigarh
- % Koriya
4 % Sarguja

= % None of the other options

Question Number : 114 Question Id : 5403043414 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 115 Question Id : 5403043415 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which district has maximum schedule tribe’s population in Chhattisgarh?

Options:
, % Jashpur

- % Sarguja

z % Kanker



4 ¢ Dantewara

= % None of the other options

Question Number : 115 Question Id : 5403043415 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Sedliee Tsd H FaIlUsF FFHaa Ja=ta arer & $ia @ g2

Options:
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Question Number : 116 Question 1d : 5403043416 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Sarguja basin structure. u.-‘hi::lchlc series is more abundant?

Options:
% Cuddapah

1
« vindhyan

% Dharwar

P2

A

-

% None of the other options

Question Number : 116 Question Id : 5403043416 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 117 Question Id : 5403043417 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



/ ‘Gomarda sanctuary’ is situated in which district of Chhattisgarh?

——

Options:
, w» Raipur (
. Sarguj A
5 % Sarguja ‘77)«)
= % Dantewara

, = Bilaspur

=  None of the other options

Question Number : 117 Question Id : 5403043417 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 118 Question Id : 5403043418 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Jashpur district, forests are known as

Options:
, % Jangal

-~ % Kanan
4 % Dabh

= % None of the other options

Question Number : 118 Question Id : 5403043418 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| % AT
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Question Number : 119 Question Id : 5403043419 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which i1s ﬂleﬁldeﬂ sanctuary in Chhattisgarh state?'\/
Options:

1 % Pamed —

. fSma ] — [Dhawtag L DT

z % Gomarda

4 % Samarsot

= % None of the other options

Question Number : 119 Question 1d : 5403043419 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 120 Question Id : 5403043420 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which district in Chhattisgarh has the densest forest?

Options:
1 % Koria

> % Bijapur

- % Kondagaon

” 7( Narayanpur J

= % None of the other options

Question Number : 120 Question Id : 5403043420 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 121 Question Id : 5403043421 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which animal is specially protected ua{f T danti sanctuary? 7

Options: . -
. % Leopard @ /z Q')/?‘SC'W

-~ % Indian antelope

s« Tiger Wil b fal,

4 % Crocodile

=  None of the other options

Question Number : 121 Question 1d : 5403043421 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 122 Question Id : 5403043422 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
(_Thoom cultivation is popular amongst which tribe of Chhattisgarh State?

Options:
1 % Halba

oo Maria
z % Muria

4 % Bharia



= % None of the other options

Question Number : 122 Question Id : 5403043422 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 123 Question 1d : 5403043423 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
When was Chhattisgarh State declared as herbal state?

Options:
;% 2000

- % 2002
4 % 2003
= % None of the other options

Question Number : 123 Question Id : 5403043423 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

SedIgee =T & &9 g9 =7 giivg &har s1ar?
Options:

. % 2000
o % 2002
2 « 2001
., % 2003

s x AN W FY G

Question Number : 124 Question Id : 5403043424 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
What is the meaning of village. according to Panchayat Raj Act of Chhattisgarh?

e

Options:



4 J A village specified by the governor through m.:ma

-~ u Avillage specified by the collector through public notification
- u Avillage specified by the commissioner through public notification
4 = Advillage specified by the chief electoral officer through public notification

= % None of the other options

Question Number : 124 Question Id : 5403043424 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 125 Question 1d : 5403043425 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is not responsible for quorum in the meetings of Gram Sabha? ;

Options: 1
, % Sarpanch

- % Panch

S

= \‘:_,,-;./Eepury Sarpanch J

, % Sarpanch and Panch

= % None of the other options

Question Number : 125 Question Id : 5403043425 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: 1
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Question Number : 126 Question Id : 5403043426 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is a body corporate?

—

Options:

, = _Zila Panchayat

- % Janpad Panchayat

» Gram Panchayat

/
[ 11 of the other Dptmnsx

= % None of the other options

Question Number : 126 Question Id : 5403043426 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 127 Question Id : 5403043427 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

If two candidates get equal votes in the election of vice-president of municipal council.

then what will happen?
Options:
. w President will give casting vote

o ® There shall be Repolling

./ Twillbe decided byTor |/

4 % Election commission will decide

= % None of the other options

Question Number : 127 Question 1d : 5403043427 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 128 Question Id : 5403043428 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who presides over the first meeting of municipal council?

Options:
1 % President

-  [Competent officer as directed by collector

= % Chief Executive Officer

4 % Senior Councilor

= » None of the other options

Question Number : 128 Question 1d : 5403043428 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 129 Question Id : 5403043429 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



Which of the following is matched?
P
b" Chief Minister will be appointed by governor.
(I, Other ministers. will be appointed by governor on advice of Chief Minister.
(III) Council of ministers shall be collectively responsible to the state legislative ®
assembly.
(IV) Governor shall administer the ministers. the oath of office and secrecy.
2y i k VJ \1
(V) Minister shall hold office till the pleasure of governor.

—

Options:

;= @O D) V)
> & (I AV) (V)
5 & (D) (IV)
4« OID V)

= % None of the other options

Question Number : 129 Question Id : 5403043429 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 130 Question Id : 5403043430 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
What is not correct of the following?
Options:
There shall be a council of ministers with the chief minister at the head to aid and advice §/
» the governor in the exercise of his functions. S

/

1

- « The governor may require the council of ministers to reconsider such ach-‘ice.\»
&4 !




Court can’t enquire about the advice given on matters by the council of ministers to the
5 % SOVernor.

4, = State legislative will determine about the salary of council of ministers.

e —

= % Council of ministers will be collectively responsible to the state legislative assembly.

—————

Question Number : 130 Question Id : 5403043430 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 131 Question Id : 5403043431 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who coordinates, evaluates, monitors and guides the activities of Janpad Panchayat and
Gram Panchayat? -

Options:
| = State govi,

- % Panchayat and Rural Development Dept.

3 j Zila Pmlcha}fat\/

4 w Allof the other options

= % None of the other options

Question Number : 131 Question Id : 5403043431 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 132 Question Id : 5403043432 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Rishabh Tirth is situated in which district of Chhattisgarh?

Options:

1 % Korba

5 .i_ﬁan_j gir—Cham@

- % Raigarh

4 % Bilaspur

= » None of the other options

Question Number : 132 Question 1d : 5403043432 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 133 Question 1d : 5403043433 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

1s considered as birth place of the founder of Pushtimarg Mahaprabhu

TR ——
Vallabhacharya.

Options:

, % Rajim
-~ % Shivarinarayana

% Narayanpur

iy ﬁhamparan}'a J‘

% None of the other options

L]

e

Question Number : 133 Question 1d : 5403043433 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 134 Question Id : 5403043434 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

l}orrect :2 Wrong: 1 -

The confluence of Shivnath and Khamnlriver is at which place?
T L

Options:

, » Rajim

- % Shivrinarayan

3. «f Sommath \/

w Angarmoti

% None of the other options

Question Number : 134 Question Id : 5403043434 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 135 Question Id : 5403043435 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
An ormament called ‘Keyure’ in Chhattisgarh. 1s worn on which part of body?

Options:

, % Onlegs

> «[On the arms J

s




= % On the waist
4 % Inears

= » None of the other options

Question Number : 135 Question 1d : 5403043435 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 136 Question Id : 5403043436 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Z.Taiikham is related to which of the following? / ﬁcu o @‘7
—

Options:
, = Kabirpanthi 7}%’ YA TRIGW
> d Satnami Z

%z % Ramnami

4 % Urao

= % None of the other options

Question Number : 136 Question Id : 5403043436 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| w FHERTTAT
5  HAATHT
5 % THATAT
4 #® 3=

s % A8 W FY G

Question Number : 137 Question Id : 5403043437 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
Which Parva from these is related to the wedding of Shiv-Parvati in Chhattisgarh?

Options:

1 % Hareli
- % leeja
= «f Gaura
4 ® Akt

= % None of the other options

Question Number : 137 Question Id : 5403043437 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 138 Question Id : 5403043438 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong:
Who perform/*Mandari Dance™?

Options:

L
> % Bhatra
3 % Oraon

4 % Korwa

= % None of the other options

Question Number : 138 Question Id : 5403043438 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Options:

FRT
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Question Number : 139 Question Id : 5403043439 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Out of the following. which dance is performed by @ELGN scheduled tribe?
Options:

1 % Dandari

» % Maopata

2 g.?[ Sarhul J

, » Hulkipata

= % None of the other options

Question Number : 139 Question Id : 5403043439 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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5 % HTETET

3 ¢ §

4 % §EET=|'E,T

Question Number : 140 Question Id : 5403043440 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

‘Which women hockey player from Chhattisgarh has received Arjun award?
\’—-

Options: é
1 % Radha Yadav
> % Neha Bajaj

= / Saba Anj}yg; /

, w Tandra Roychoudhary

= % None of the other options

Question Number : 140 Question Id : 5403043440 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 141 Question 1d : 5403043441 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who amongst these has had his education in Chhattisgarh also?

Options:
. «/Mohd. Hidayatullah

- % Dr. Jakir hussain

= # Dr. Radhakrishnan
4 = Dr. Rajendra Prasad

= % None of the other options

Question Number : 141 Question Id : 5403043441 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 142 Question 1d : 5403043442 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
With ﬁ.ﬁ.fhir:lyChauka Aarti is related?
Options:

i ﬁb irpanth \/

> % Satnam Panth




5 % Aghorpanth

4 % Sanatan
= % None of the other options

Question Number : 142 Question Id : 5403043442 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Options:
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Question Number : 143 Question Id : 5403043443 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
/ Khichadi and laddus of til are prepared on which festival day?

Options.
1 @ Eﬂkﬂl‘ﬂﬂlﬂﬂ‘ﬂﬂ \/

% Deepavali

4
- % Bhai-duj

4 ® Holi

= » None of the other options

Question Number : 143 Question 1d : 5403043443 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 144 Question 1d : 5403043444 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1

Which folk singing of Chhattisgarh has a role ﬂZE%Hgi? ;

Options:
1 % Sua

- % Panthi
- % Dadriya

% None of the other options

=

Question Number : 144 Question Id : 5403043444 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 145 Question 1d : 5403043445 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is known as the energy capital of Chhattisgarh state?

Options:
, w Raipur

~ % Bilaspur KOT
- % Raigarh

4 % Rajnandgaon

= { None of the other DpTiDdS

v

Question Number : 145 Question Id : 5403043445 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 146 Question Id : 5403043446 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following districts have corundum deposits?

Options:
% Ambikapur and Narayanpur Al

4—-) (7

1

-~ % Raipur and Gariaband

5 V/ Dantewada and Bijj apmq

4 ® Gariaband and Bijapur

= % None of the other options

Question Number : 146 Question Id : 5403043446 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 147 Question Id : 5403043447 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Where is the traditional Chhattisgarhi taste cen’rr?@m;l* situated?

Options:
| % Durg

= % Dhamteri

4 % Bhilai

c % None of the other options



Question Number : 147 Question Id : 5403043447 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 148 Question Id : 5403043448 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which district of Chhattisgarh. a woman gave birth to five children together recently?

P

Options:
, ® Surajpur

-~ % Jashpur

= / Sarguja /

, % Balrampur

= % None of the other options

Question Number : 148 Question Id : 5403043448 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 149 Question Id : 5403043449 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which disease the tablets of DEC is to be taken?
Options:



1 g:?{ Filariasis \’%

> % Sickle cell
z # HIV
4 % Typhoid

= » None of the other options

Question Number : 149 Question 1d : 5403043449 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

W (I SUTST FEAST AEee) Fr oA F T4, FH T F F
greT g7

Options:

| » SRR
> w T8&o Tl

. x TEAEA

4 % CISDISS
T E

Question Number : 150 Question Id : 5403043450 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
At present. who is the nominated member amongst these in Chhattisgarh legislative
assembly? <

Options:

1 % Shri Arun Bora ~ = /
e @ b
- % Shri Keshav Chandra 7~ /
5 ® Shri Deepak Baiz L/E E/? 5(\ (/j
i f/ Shri Beznard Fﬂdﬂ @ ) £
¢ 4

% None of the other options

Question Number : 150 Question Id : 5403043450 Question Type: MCQ Display Question Number : Yes
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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